FriendsNo.219 (2021 11 )
Web

— ~ R\ Y N
O —7«420 AJU1— mss ERON"
LOCATING BUTTONS ~ No.E-9956 5%5
8y 2
SUM22 18 AHRC50~60 22
RENE ) B5h -
g
;\3
|
F B 2
D,E
— \
WA J
i Y i _ _ :
o o I
| — A L
Nam G v Z
(4
{ 7
|
J % 7
=
Ll s R iliES o IR Z
F—5—No. No. AGEE) B c D E E @ HEg s -
%938617 | LOSO5 | M 5x0.8 30 5 4 3 8 19 10 2,290 4
%938618 | LOS06 | M 6x1.0 30 6 5 4 10 17 12 2,340
%938619 | LOSO8 | M 8x1.25 40 8 5 5 13 26 15 2,520
%938620 | LOS10 | M10x1.5 50 10 6 6 17 34 37 2,750
%938621 | LOS12 | M12x1.75 65 12 8 8 19 45 60 3,490
%x938622 | LOS16 | Mi6x2 70 - 16 10 10 24 46 125 5,100

MLIYIR—KXTUa— Eron’

TORQUE SUPPORT SCREWS  No.E-9957

b

V|

SUM22 REE) B =

U

A

g

< ¥

E_ D B -

Ay

e

A

W LS %
B/ERY AL © g % - -

M .

p

i

2AFUVT

Wtk fifgx * EREIRY CRE
ZF—5'—No. No. AGEE) B C D E F G BINEAN) BAKEAN) HEg it

938613 | TSS06 |M 6x1.0 = 45 = 73 = 20 8 25 6 4 800 75 | 17,000 £

938614 | TSS10 |M10X1.5 = 45 = 73 = 20 8 25 6 4 850 90 | 21,400 =
938615 | TSS12 |M12x1.75 45 = 73 = 20 8 25 6 4 450 105 | 21,400
%938616 | TSS16 |MI16X2 45 = 73 = 20 8 25 6 4 250 130 | 21,400

SINCE 1560

NABEYA co,io. CADF—99 5 v0—F - EEESIE Web 51 hT ! [ FAv \ 883

FriendsNo0.219/2021.1124IERR






